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Y | oI 1.D. AQISTIONNS  March, 2017

o lottor of the rlght answer (10 points),
.cribes the approximate area below the graph of /(x):

Name_ | ma nJ

1. Multiple cholge, Ghoose
1 Choose the sentence that best des

a)  Approximation of the area on the
™ x intarval I(l,-ll using 4 parhitions with
' left-hand calculations
b) Approximation of the area on the
h interval II,SI using 4 partitions with
right-hand calculations,

" ¢) Approximation of the area on the
interval IUA] using 4 partitions with
right-hand calculations

s =t = 20 d) Approximation of the area on the

| interval |I.5] using 4 partitions with

left-hand calculations.

I Evaluate the integral using the following values. SHOW THE STEPS OF YOUR PROCEDURE. (5 points each)
‘ 1
J“ X =9 [ “x’dx 54 I k=17

)w u(a) * ()= 348 i

5 j "(5x' +ax+6)dx= 8¢

b [23ak= 23D = \gl

IV, Procedure. Solve the following problem showing your entire procedure.
1) Approximate the area of a plane regions using left hand, right hand and middle points approximations.

f(x)=9-x" on I},S! 4 rectangles (20 points)

A 6 -3 Area (Lefthand)= _=\0.19v"™ ¢
IS e ; =
\ 2 .5 Area (Right hand) = ..:LL.:J&;
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ASDATE:_____
Name J{\%, ,d l=las 7\l®q'de‘1 IL)J,\D_\ﬁTlO)_S A
At nacin Saldt AY ! A
S e v the question. (125 =
MULTIPLE CHOICE. Choose the one alternative that best completes the statement Or answers q % p

each one)
Evaluate the jntegral. Ix c,: /
a\’v\AJo\ +C B) xeX - 4eX + C C) 4ex-eX+C D) 4eX - 4xe* + C
2) J e5% cos 4x dx }/mzl'\qu
DX =
A) - [sindxs cos dx] 4+ C B){TH@\sinuoScmm.c
L e9X - eox
UTHMMMDMN'C D)—“—|4s,n4x-5cos4x|4c
* g :
) tow N1 (28x) < fendou) T dxsn-12 Xam
3) (2x-1) In(24x) dx z /,/A
o 2
Cay[k2 - Jin24x - 2= x2
k:/m xjin 24x > +x+C B)(‘Z")ln24x'—2—42xcc
r
o L) SETE
),Lz -xle\-To\‘C D)[xz-\)‘ln24x~x2ox.(j

i
4) 23X €08 =X dx
2 _/‘f)/E
1 1
A) 23x sin = x - S .
& WR[ZJ\ g PSS »@(”‘Sm{;}”gzc - “; k+C

S 5 1

7) 92sin = - 15 | —Ix + i

©) m[z}n 46x cos > C D)ﬁsln[%]x¢46xms—]~ +C

2

22X x2 dx / ! 3

A)(1/2)x2e2X - (1/4)xe2X + (1/4)e2X + C =
B 202X
C) (1/2)x2e2X - (1/2)xe2X + C %Z;:Z:zx ('lelZXZ)xe(zx + (12/:)22’( +C
- xe2X 4 (1/4)e2X 4+ C







This activity was very helpful at the beginning because every exercise is done in a different way so
| could practice every type of integration and understand what it is asked.







| found really helpful this type of activities: that have all the ways we learned for solving the
problem, plus the thing that we had to find the particular antiderivative. Doing that was like a
review and also, with the particular antiderivative, understand better how antiderivatives work.




And last but not least, this is another activity in form of a review, joining all the forms of
antiderivatives we saw on the partial. Which until now has helped me so | don’t forget or confuse
the procedures.

CONCLUSION

I think I learned a lot this semester, even though it was a big general subject, we saw that things
can be made in different ways, or that if you're missing something maybe you can use other data
so you can solve the problem.



